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SWeE | aWeEm | A [RURERTFRR H2HIER B BERE 2 B 20 20 [2HEA—REARRA L | 0.60 0.05 1.25 1.10 39.85 | 62.0 SRR
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SWeE |2VWeET | Ak |EREAtEHERSSV SRR — AR SRR [EEHA C 27 26 [ —AF A GRS 1 0.15 0.27 0.35 1.85 17.5 EEHA
SVeE | 2VeET | Ak |[EREAHEERRSVEEWRER El{EHRRR [El{EHA [El{EHA 60 60 (@M V7-yamRARH 1 [El{EHA
SVeE | EVET | Al raaRabsEmmsE cHERrs- |NAF SRR SRR 54 52 |2 AR 2 | 1.25 0.19 0.15 1.98 1.60 0.19 0.17 8.21 35.5 SRR
BVeE | EVVeET | Rk |RarmRa A bEEmREEE st ERes- INGF R R 51 35 | SRR ABER 2 0.20 0.03 10.54 | 31.5 2R
SVE | EVET | Rl rarRaAbsEmmee ctERrs- |NSF 1BV [E4EHA 58 57 |isiEEs PRERAR 1 0.02 0.40 0.12 8.56 5.9 @iEM
SVeE | 2VEm | b [SVEFERRRE 4BESRAR SR SR 72 55| MR —RE A BT 4 0.02 0.04 0.05 0.05 2.36 34.4 SR
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Bk | LRW | R |EREAHEERS LRPREATR |6AHCU BEALN | EEaL 4 PV p— P 1.00 | 0.50 0.50 | 2.50 EEALE
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Bk | LRW | AR |EREAHEERS LRPREATR | 0AWR 2 2 50 50 [ BUER—RABRR 1 118 | 0.26 020 | 320 | 502 | 300 | =i
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